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1. H¥$n¶m AnZm AZwH«$‘m§H$, àíZ nwpñVH$m H«$‘m§H$, n§Or¶Z g§.,
narjm Ho$ÝÐ H$moS>, àíZ nwpñVH$m loUr, narjm {V{W VWm
nmbr H$mo Amo.E‘.Ama. CÎma nÌH$ ‘| gmdYmZrnyd©H$ ghr
^a| & JbV à{d{ï>¶m± ̂ aZo na Aä¶Wu ñd¶§ CÎmaXm¶r hmoJm &

2. narjm àmaå^ hmoVo hr àíZ nwpñVH$m Ed§ Amo.E‘.Ama. CÎma
nÌH$ H$s ^br-^m±{V Om±M H$a ¶h gw{ZpíMV H$a b| {H$
àíZ nwpñVH$m ‘| àíZ H«$‘m§H$ 1 go ApÝV‘ H«$‘m§H$ 100 VH$
g^r àíZ H«$‘dma ‘w{ÐV h¢ Ed§ g^r n¥ð> H«$‘dma 1 go 16 VH$
‘m¡OyX h¢ & {H$gr ^r àH$ma H$s {dg§J{V hmoZo na àíZ
nwpñVH$m Ed§ Amo.E‘.Ama. CÎma nÌH$ A§VarjH$ go ~Xbdm
b| & narjm àmaå^ hmoZo Ho$ 5 {‘ZQ> Ho$ níMmV² Eogr pñW{V ‘|
{H$gr Amn{Îm na H$moB© {dMma Zht {H$¶m Om¶oJm &

3. g^r àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g‘mZ h¢ &

4. àË¶oH$ àíZ H$m Ho$db EH$ hr CÎma Xr{OE & AmodaamBqQ>J
Am¡a EH$ go A{YH$ CÎma XoZo H$s Xem ‘| àíZ Ho$ CÎma H$mo
JbV ‘mZm OmEJm VWm Eogo àË¶oH$ CÎma Ho$ {bE EH$-
Mm¡WmB© A§H$ H$mQ>m OmEJm & àíZ H$mo AZwÎm[aV N>mo‹S>Zo na
eyÝ¶ A§H$ {X¶m OmEJm &

5. àË¶oH$ àíZ Ho$ Mma d¡H$pënH$ CÎma {X¶o J¶o h¢, {OÝh| H«$‘e:(A), (B), (C), (D) A§{H$V {H$¶m J¶m h¡ & Aä¶Wu H$mo ghr
CÎma {Z{X©ï> H$aVo hþE CZ‘| go Ho$db EH$ Jmobo AWdm ~~b
H$mo Amo.E‘.Ama. CÎma nÌH$ na H$mbo/Zrbo ~m°b ßdmB§Q> noZ
go ^aZm h¡ &

6. H¡$ëHw$boQ>a, ‘mo~mBb ’$moZ/ãby>Qy>W {S>dmBg AWdm AÝ¶ {H$gr
Bbo³Q>́m°{ZH$ ¶§Ì H$m narjm hm°b ‘| à¶moJ nyU©V¶m d{O©V h¡ &
¶{X {H$gr Aä¶Wu Ho$ nmg Eogr H$moB© d{O©V gm‘J«r
{‘bVr h¡ Vmo CgHo$ {déÕ {Z¶‘mZwgma H$R>moa H$m¶©dmhr H$s
Om¶oJr &

7. ¶{X {H$gr àíZ Ho$ {hÝXr Ed§ A§J«oOr ê$nmÝVam| ‘| {H$gr àH$ma
H$s H$moB© ‘wÐU ¶m VÏ¶mË‘H$ àH$ma H$s Añnï>Vm/Ìw{Q> hmo Vmo
àíZ H$m {hÝXr ê$nmÝVaU ‘mÝ¶ hmoJm &

8. Aä¶Wu narjm-^dZ N>mo‹S>Zo go nhbo ¶h àíZ nwpñVH$m Am¡a
Amo.E‘.Ama. CÎma nÌH$ H$s g^r VrZm| à{V¶m± AbJ {H$¶o
{~Zm A§VarjH$ H$mo gm¢n X|, AÝ¶Wm Aä¶Wu C{MV XÊS>/
d¡Ym{ZH$ H$ma©dmB© Ho$ nmÌ hm|Jo & Amo.E‘.Ama. CÎma nÌH$
H$s Aä¶Wu à{V A§VarjH$ Ûmam AbJ H$aHo$ CÝh| Xo Xr
Om¶oJr &

{ZX}e
1. Please correctly fill your entries i.e. Roll No.,Question Booklet No., Registration No., Exam CentreCode, Question Booklet Series, Date of Examinationand Shift in OMR Answer Sheet. Candidate willthemself be responsible for filling  wrong entries.
2. At the start of the examination check your QuestionBooklet and OMR Answer Sheet and ensure thatquestions from S.No. 1 to last S.No. 100 are printedand pages from S.No. 1 to last S.No. 16 are there inthe Question Booklet. In case of any discrepancythe candidate should replace the Question Bookletand OMR Answer Sheet from the invigilator. Noobjection in this regard will be entertained after fiveminutes of start of examination.
3. Answer all questions. All questions carry equal marks.
4. Only one answer is to be given for each question.Overwriting and marking multiple answers will beconsidered as wrong answers and 1/4 mark will bededucted for each such answer. Leaving a questionunanswered will get zero mark.
5. Each question has four alternative responses markedserially as (A), (B), (C), (D). You have to darken onlyone circle or bubble indicating the correct answeron the OMR Answer Sheet using BLACK/BLUEBALL POINT PEN.
6. Use of Calculator, Mobile Phone/Bluetooth devicesor any other electronic gadget in the examinationhall is strictly prohibited. If any such prohibitedmaterial found with any candidate, strict action willbe taken against him/her as per rule.
7. If there is any sort of ambiguity/mistake either ofprinting or factual nature in Hindi and EnglishVersion of the question, the Hindi Version will betreated as standard.
8. Before leaving the Examination Hall candidate musthandover the Question Booklet and all the three copiesof OMR Answer Sheet  to the invigilator withoutseparating it, otherwise candidate will be liable forappropriate penal/legal action. Invigilator willhandover the candidate’s copy of OMR Answer Sheetafter separating it.

INSTRUCTIONS

E

E
àíZ nwpñVH$m loUrQuestion Booklet Series

GA2M0MA2!&!1Q URVSWTX*GA2M0MA2!&!1QURVSW TX*GA2M0MA2!&!1QURVSWTX*GA2 M0MA2!&!1QURVSWTX*GA2M0MA2 !&!1QURVSWTX*GA2M0MA2!&!1QU RVSWTX*GA2M0MA2!&!1QURVSWT X*GA2M0MA2!&!1QURVSWTX*GA2M 0MA2!&!1QURVSWTX*

E

www.prepp.in



 

GAMMA21 – 2 –  E  

Directions : Read the passage carefully and 
answer the corresponding questions : (1-3) 
 I climbed into bed and rolled myself in my 
blankets, first extinguishing the light that 
burned steadily near the door. I lay still trying 
to get to sleep but my fear made that 
impossible and soon I sat up in bed peering into 
the darkness and occasionally glancing at the 
round window in the side of the ship which 
seemed like a plate suspended in the darkness. 
For an hour I must have sat like this, and then 
I was suddenly roused, by a drought of cold air. 
I jumped out of bed; not having allowed for the 
motion of the ship, I was instantly thrown 
violently across the room. 
 1. The author jumped out of bed because 
 (A) he was pushed by someone. 
 (B) he saw someone coming towards 

him. 
 (C) a cold breeze blew past his face. 
 (D) he heard a faint sound. 
 2. Which one of the following did the 

author do first ? 
 (A) None of these 
 (B) Climbing into bed. 
 (C) Rolling himself into blankets. 
 (D) Closing the door. 
 3. The author sat peering into the darkness 

because 
 (A) he was afraid. 
 (B) he wished to see the window. 
 (C) the window had looked like a plate 
 (D) he had put out the light. 
 4. Give Antonym for the following word : 
 Keen 
 (A) Eager (B) Alert 
 (C) Humble (D) Dull 
 5. Give Synonym for the following word : 
 Pride 
 (A) Cowardice (B) Hate 
 (C) Dignity (D) Humour 

6.           
     

 (A)  (B)  
 (C)  (D)  () 
 Choose the word which is least like the 

other words in the group : 
 (A) Priest (B) Knight 
 (C) Monk (D) Nun 
 7.      COMPUTRONE 

    PMOCTUENOR   
   ADVANTAGES    
 ? 

 In a certain code language, 
COMPUTRONE is written as 
PMOCTUENOR. How is 
ADVANTAGES written in that code ? 

 (A) NAVDASEGAT 
 (B) AVDATNSEGA 
 (C) AVDATASEGN 
 (D) SEGATNAVAD 
 8.       , “   

      ”    
      ?  

 (A)  (B)  
 (C)  (D)  
 A man said to a lady, “Your mother’s 

husband’s sister is my aunt (Bua).” How 
is the lady related to the man ? 

 (A) Sister  (B) Grand daughter  
 (C) Mother  (D) Daughter  
 9.          

  
  :  : :  : ? 
 (A)  (B)  
 (C)  (D)  
 Select the related word from the given 

alternatives : 
 Dog : Rabbies : : Mosquito : ? 
 (A) Stings (B) Death 
 (C) Malaria (D) Plague 
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10.            
        ? 

 (A)  (B)  
 (C)  (D)   
 Name the state of India which became 

the first state to provide health insurance 
for all its residents. 

 (A) Karnataka (B) Telangana  
 (C) Rajasthan (D) Gujarat 
 
11. ...  22 , 2021    

           ?  (A)     (B)   (C)  (D)   Which payment system has been barred by RBI from issuing new cards from     22 July, 2021 ?  (A) None of these (B) Visa  (C) Rupay (D) Mastercard  
 
12.          

      “ ” 
   ? 

 (A)      
 (B)    
 (C)    
 (D)       
 To raise awareness about Yoga, Mobile 

app “Namaste Yoga” launched by 
whom in India? 

 (A) None of these 
 (B) Ministry of Home Affairs 
 (C) Ministry of Ayush 
 (D) Ministry of Health and Family 

Welfare 
 
13.  18 , 2005   ,            

18 , 2007      ?  
 (A)  (B)  
 (C)  (D)  
 If 18th February, 2005 falls on Friday then what will be the day on 18th February, 2007 ?   (A) Wednesday (B) Monday  (C) Tuesday (D) Sunday 

14. 2021-22    (-)  
         ? 

 What is the interest rate on Sukanya 
Samriddhi Accounts for second quarter 
(July-Sept) of 2021-22 ? 

 (A) 9.6% (B) 6.6% 
 (C) 8.6% (D) 7.6% 
 15.          

    ______    
   

 (A)   (B)   
 (C)   (D)    
 The Indian Army has named one of its firing ranges in Kashmir after Bollywood actress _______.   (A) Vidya Balan  (B) Priyanka Chopra  (C) Deepika Padukone  (D) Aishwarya Rai Bachchan 
 
16.  2021        

        
  ? 

 (A)  (B) ..  
 (C)   (D)  
 Which country’s passport has topped in 

the most powerful passport in the world 
for the year 2021 ? 

 (A) Japan (B) U.S. 
 (C) India (D) Russia 
 

17.   2021    
  -      ? 

 (A)    
 (B)   
 (C)   
 (D)   
  Who has been named the flag-bearer of 

the Indian contingent in the Tokyo 
Paralympics 2021? 

 (A) Ajeet Singh 
 (B) Mariyappan Thangavelu 
 (C) Devendra Jhajharia 
 (D) Kashish Lakra 
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18.    2021     
   ? 

 (A)  (B)  
 (C)  (D)   
 Global Peace Index 2021 topped by which country ?  (A) Portugal (B) New Zealand 
 (C) Iceland (D) Denmark 
 19.        

      ? 
 (A)   (B)    
 (C)  (D)  
 Which state government implements 

Chief Minister Dalit Empowerment 
Programme ? 

 (A) Bihar (B) Andhra Pradesh 
 (C) Tamil Nadu  (D) Telangana 
 20.       “ ”    

     ? 
 (A)  (B)  
 (C)  (D)  
 Which of the following countries is known 

as the land of “Thunder Dragon” ? 
 (A) Srilanka (B) Bhutan 
 (C) Nepal (D) Japan 
 
21.       ? 
 (A)     (B)  
 (C)    (D)  
 Riyadh is the capital of which country ? 
 (A) None of these (B) Bangladesh 
 (C) Saudi Arabia (D) Myanmar 
 

22.    2021    
    ? 

 (A) ... 
 (B) ... 
 (C) ...... 
 (D) ... 
 Tamil Nadu Assembly Election 2021 

was won by which political party ? 
 (A) PMK (B) BJP 
 (C) AIADMK (D) DMK 

23.          
    ?  

 (A) 8  (B) 4  
 (C) 6  (D) 2  
 What is the tenure of the elected 

members of Rajya Sabha? 
 (A) 8 Years (B) 4 Years 
 (C) 6 Years (D) 2 Years 
 
24.          ? 
 (A) 30  (B) 24  
 (C) 27  (D) 20  
 When is the United Nations Day 

celebrated across the world ? 
 (A) November 30 (B) October 24 
 (C) November 27 (D) October 20 
 
25.      ? 
 (A)  (B)   
 (C)  (D)  
 The International Court of Justice is 

located at 
 (A) Vienna (B) The Hague 
 (C) Amsterdam (D) Geneva 
 
26.   ‘’     – 
 (A)   (B)    
 (C)   (D)   
 The world famous ‘Khajuraho’ sculptures 

are located in 
 (A) Maharashtra 
 (B) Madhya Pradesh 
 (C) Odisha 
 (D) Gujarat 
 
27.            

    ? 
 (A)  (B)  
 (C)  (D)  
 Which of the following is the smallest 

state (in Area) of India ? 
 (A) Mizoram (B) Goa 
 (C) Meghalaya (D) Sikkim 
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28.           ? 
 (A)  (CFC) 
 (B)  
 (C)   
 (D)   
 Which of the following is not a green 

house gas ? 
 (A) Chlorofluorocarbon (CFC) 
 (B) Nitrogen 
 (C) Carbon dioxide 
 (D) Methane 
 
29.       ? 
 (A)      
 (B)      
 (C)          
 (D)         
 Arjuna Award is given for 
 (A) Exceptional social services 
 (B) Bravery on battlefield 
 (C) Outstanding performance in sports 
 (D) Exceptional service in emergency 
 
30.         

  ? 
 (A)   (B)  
 (C)  (D)  
 The famous Nabakalebara festival 

belongs to which of the following states? 
 (A) Odisha 
 (B) Bihar 
 (C) Rajasthan 
 (D) Kerala 

         
   (31-35)     

        
         
            
  -  -         
           
,            
         
          
           
       ,     
 ,           
         
         
        -
            
           
           
          
          
  
 
31.           

  
 (A)        

   
 (B)        

   
 (C)        
 (D)       

  
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32.         ? 
 (A)      
 (B)      

  
 (C)       
 (D)      

   
 
33.      
 (A)       
 (B)      
 (C)    
 (D)     
 
34.        

  ? 
 (A)   , ,     

    
 (B)         
 (C)  -     
 (D)       

     
 
35.     ‘’    

 – 
 (A)    (B)    
 (C)    (D)    
 
         

   (36-40)     
 -        
         
        ‘ 
  ’         
   ,      -
         ,    
        ,     
      ,    

      ?     
- !    -  
           
 -        
        
        
           
        - 
            
            
  ,       -
           
            
  ,         
         
 ,           
      ,   
  –      
          
          
           
          
        ? -
        
      -
        - 
            
   -       
   ,       
           - 
   ,  -   
-      - 
, , ,       
     -  
          
      
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36.         
 (A)   
 (B)   
 (C) -  
 (D)   
 
37.          
 (A)        

   
 (B)        

  
 (C)         

      
 (D)       

    
 
38. -     

    
 (A) -     
 (B) -     
 (C) -     

 
 (D)         
 

39.    ‘’      
 (A)  (B)  
 (C)  (D)  
 

40.           
 (A)          
 (B)       
 (C)       
 (D) -     ,   

     

 (41-45) :       
    (  )     
         : 
Directions (41-45) : The following graph 
shows the production of cement in Million 
Tonnes during the various years. Study the same 
and answer the following questions correctly : 

   
(  ) 

Production of Cement 
(In Million tonnes) 

 
 
41.         _______ 

       
 The increase in production was 

maximum during the year _______ over 
its previous year. 

 (A) 2018-19 (B) 2017-18 
 (C) 2014-15 (D) 2013-14 
 
42.         
 The average production during the first 

three years was : 
 (A) 50 MT (B) 46 MT 
 (C) 48 MT (D) 44 MT 
 
43.         : 
 The maximum production of cement was 

noted in the year : 
 (A) 2017-18 (B) 2014-15 
 (C) 2018-19 (D) 2013-14 
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44.  2011-12      
       

 The percentage increase in production 
during 2011-12 over its previous year was : 

 (A)     / None of these 
 (B) 36 % 
 (C) 37.5 % 
 (D) 31.8 % 
 45.        : 
 The production fell down to the 

maximum extent in the year : 
 (A) 2019-20 (B) 2015-16 
 (C) 2016-17 (D) 2012-13 
 

 (46-50) :      X   
 2013  2019         
           
Directions (46-50) : The following graph 
shows the import of a certain commodity X in 
Crore Rupees between 2013 and 2019. 
The questions are based on the shown figure. 
Answer these questions. 

  46.        X    
   (`  )  

 Average of the increase in import of            
X year by year for all the years is                   
(in ` crore) 

 (A)     / None of these 
 (B) 280 
 (C) 325 
 (D) 260 

47.     X  , X   
    ?  

 For how many years, there was more 
import of X, than the average import of 
X ? 

 (A) 1 (B) 3 
 (C) 2 (D) 4 
 

48. X        X  
           
 –  

 The difference of the numbers of years in 
which import of X is less than the 
average import and in which import of X 
is more than the average import is 

 (A) 0 (B) 2 
 (C) 1 (D) 3 
 

49.  2018-19   X     
    X      
   ? 

 The percentage increase in import of X  
during 2018-19 over its Average of 
Import of X of all years  ?  

 (A) 64.38 % (B) 63.5 % 
 (C) 70.6 % (D) 50.9 % 
 
50.  2014-15  2015-16   X  

     –  
 Percent increase in import of X from 

2014-15 to 2015-16 is 
 (A) 25.0 % (B) 33.3 % 
 (C) 28.8 % (D) 43.0 % 
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 (51-55) :   /   
         : 

Directions (51-55) : Study the table and 
answer the given questions.  

     A, B, C  D   
          

In the following table four persons A, B, C and 
D are selling items on different days of the 
week. 

 A B C D 
/ Monday 40 45 25 20 
/ Tuesday 35 50 48 26 
/ Friday 25 28 15 41 
/ Saturday 30 40 45 40 

 

51.   D    ,   C 
        ? 

 Items sold by D on Monday is what 
percent of item sold by C on Saturday ? 

 (A) 32.70 % (B) 49.55 % 
 (C) 44.44 % (D) 42.60 % 
 
52. B, C  D   ,   

         ?  
 What is the average of the items sold by 

B, C and D on Monday, Tuesday and 
Saturday respectively ? 

 (A) 45.90 (B) 42.50 
 (C) 46.66 (D) 44.33 

53.       D     
  B        
  ? 

 Percent increase for selling of items B 
compare with Selling of items D in all 
four days of weeks is 

 (A) 28.3 % 
 (B) 19.5 % 
 (C) 18.3 %  
 (D) 29.1 %  
 
54.          

         
   ? 

 What is the difference between the 
average of items selling on Monday to 
average items selling on Friday ? 

 (A) 6.45 
 (B) 7.40 
 (C) 5.25  
 (D) 10.5  
 

55.   A       
 C         ? 

 What was the ratio of item sold by A on 
Tuesday & items sold by C on Saturday ? 

 (A) 8 : 7 
 (B) 7 : 9  
 (C) 6 : 5 
 (D) 9 : 7 
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 (56-60) :   /   
         : 
Directions (56-60) : Study the table and 
answer the given questions. 

  2010-2017       
Production of Crops in India during              

2010-2017 
( ) / (In tonnes) 

 / 
Year 

 / 
Wheat 

 
/ 

Rice 

 
/ 

Bajra 

 / 
Maize 

 / 
Barley 

 / 
Pulses 

 / 
Potatoes 

2010-11 6121 874 565 80 300 415 210 
2011-12 7010 964 655 60 312 417 220 
2012-13 7112 960 780 55 210 680 222 
2013-14 7056 985 1110 40 200 310 245 
2014-15 6896 716 1160 90 216 370 315 
2015-16 6912 826 1450 110 160 300 400 
2016-17 7617 812 1460 75 216 260 445 

 
56.      2013-2017   

       ?  
 (A)  (B)  
 (C)  (D)  
 Which of the following crops showed the 

continuous increase in production during 
2013-2017 ? 

 (A) Bajra (B) Barley 
 (C) Pulses (D) Maize 
 
57. 2010-11  2016-17      

     ? 
 (A) 253.86  (B) 293.86  
 (C) 353.96  (D) 300.00  
 What is the average yield of potatoes 

during the period 2010-11 to 2016-17 ? 
 (A) 253.86 tonnes (B) 293.86 tonnes 
 (C) 353.96 tonnes (D) 300.00 tonnes 

58. 2016-17         

          ?  
 (A)  (B)  
 (C)  (D)  

 During 2016-17, which of the following 
crops showed decrease in production in 
comparison to the previous year ? 

 (A) Potatoes (B) Bajra 
 (C) Rice (D) Barley 
 
59.    2015-16  2010-11  

    ? 
 The production of potatoes in 2015-16 is 

approximately how many times that in 
2010-11 ? 

 (A) 1.90 
 (B) 2.00 
 (C) 2.10  
 (D) 1.82  
 
60.          

 ? 
 Wheat production started showing a 

slump during : 
 (A) 2016-17 
 (B) 2015-16 
 (C) 2014-15 
 (D) 2013-14 
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61. --       
  ? 

 (A)     (B)  
 (C)  (D)  
 Siraj-ud-daula was defeated by British in 

the battle of : 
 (A) None of these (B) Plassey 
 (C) Wandiwash (D) Buxar 
 62.    ‘ ’     ? 
 (A)   (B)   
 (C)   (D)   
 Who among the following was the great 

protagonist of the ‘Doctrine of Lapse’ ?  (A) Lord Hastings  (B) Lord Dalhousie  (C) Lord Minto  (D) Lord Wellesley 
 63.       ? 
 (A)     
 (B)       

    
 (C)         
 (D)      
 In Indian History who was Dhanvantari ? 
 (A) None of these 
 (B) A noted physician who adorned the 

court of Chandragupta Vikramaditya 
 (C) A famous dramatist who lived 

during the time of Harsha 
 (D) A famous general of Chandragupta 

Maurya 
 64.       ? 
 I.   
 II.  
 III.   In which order did the following come to India ?  I. Thomas Roe  II. Fa-hien  III. Hiuen-Tsang  (A) III, I, II (B) II, I, III  (C) II, III, I (D) I, II, III 

65.          ?  The Simon Commission first visited India in the year  (A) 1928 (B) 1926  (C) 1919 (D) 1925 
 66.        

 “ ” ( )  
    ? 

 (A)  (B)  
 (C)  (D)  
 In which session, the Indian National 

Congress passed the historic “Poorna 
Swaraj” (complete independence) 
resolution ? 

 (A) Lucknow (B) Lahore 
 (C) Karachi (D) Bombay 
 67.     :  

a.    1.   
b.   2.   
c.   3. ..  
d.    4.   

 Match the following :  a. Indian  National Army 1. Lala Hardayal 
b. Ghadar Party 2. Subhash Chandra Bose c. Mitra Mela 3. V.D. Savarkar d. Home Rule League 4. Annie Besant 

  a b c d 
 (A) 4 2 1 3 
 (B) 2 1 3 4  
 (C) 3 4 1 2  
 (D) 1 2 3 4 
 68.      “”  

  - 
 (A)     (B)  
 (C)  (D)  
 “Indica” which is an account of Mauryan India was authored by 
 (A) None of these (B) Fa-hien 
 (C) Hiuen-Tsang (D) Megasthenes 
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69.         
    ? 

 (A)    
 (B)   
 (C)    
 (D)   
 Which of the following revolutionary 

groups was involved in Kakori 
Conspiracy Case ? 

 (A) Hindustan Republican Association 
 (B) Anushilan Samiti 
 (C) Abhinav Bharat Group 
 (D) Ghadar Party 
 
70.         ? 
 (A)  (B)  
 (C)  (D)  
 The Nagarjunasagar Dam has been built 

across the river 
 (A) Cauvery (B) Krishna 
 (C) Ganga (D) Godavari 
 
71.          

 ? 
 The Mt. Everest was first scaled in the 

year 
 (A) 1958 (B) 1953 
 (C) 1955 (D) 1951 
 
72.         

      ? 
 (A)    
 (B)   
 (C)    
 (D)     
 Who among the following opposed 

Mahatma Gandhi’s association with the 
Khilafat movement ? 

 (A) Abul Kalam Azad 
 (B) Fazlul Haque 
 (C) Mohammed Ali Jinnah 
 (D) Khan Abdul Ghaffar Khan 

73.           
 (A)  (B)  
 (C)  (D) - 
 The source of iron ore for Bhilai Steel Plant is   (A) Rajnandgaon (B) Korba  (C) Umaria (D) Dalli-Rajhara 
 74.           

   ?  
1.    –    
2.     

  –   
3.  ,   

   –    
4.      –  

 (A) 1, 2  3 (B) 2  3 
 (C) 3  4 (D) 1  2 
 Which of the following passes and 

locations is/are wrongly matched ?  1. Zojila and Burzil – Jammu and Kashmir 2. Bara Lapcha La and Shipki La 
– Uttar Pradesh 

3. Thaga La, Niti Pass and Lipu Lekh 
– Himachal Pradesh  

4. Nathu La and Jelep La – Sikkim  
 (A) 1, 2 and 3 (B) 2 and 3 
 (C) 3 and 4 (D) 1 and 2 
 75.     /   

  
 (A)   
 (B)   
 (C)     
 (D)    The name of the bird sanctuary/national park at Bharatpur is   (A) Ghatprabha Sanctuary  (B) Darrah Sanctuary  (C) Keoladeo Ghana National Parks  (D) Bhensroadgarh Sanctuary  
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76.          
   

 (A)    
 (B)    
 (C)    
 (D) ...   The agency estimating the National Income of India is  (A) Central Statistical Organization  (B) NITI Aayog  (C) Ministry of Finance   (D) RBI    
 77.         ? 
 (A)   (B)    
 (C)    (D)    
 What is another name for the Service Sector ?  (A)  Agriculture (B)  Primary  (C)  Secondary (D)  Tertiary 
 78.            

   ? 
 (A)    
 (B)  .   
 (C)  ..  
 (D)       Who is known as father of White Revolution in India ?  (A)  Norman Edburg   (B)  Dr. Verghese Kurian  (C)  M.S. Swaminathan  (D)  Balwant Rai Mehta 
 79.         

    ? 
 (A)    
 (B)    
 (C)      
 (D)   
 Private investment will be most likely to be increased as a result of a rise in      (A) Personal taxation  (B) The price of shares  (C) Expected yield on new capital  (D) The rate of interest  

80.           
   ? 

 (A)    
 (B)    
 (C)  
 (D)  
 Which one of the following is not 

included in the state list in the 
Constitution of India ? 

 (A) Criminal Procedure Code 
 (B) Law and Order 
 (C) Prison 
 (D) Police 
 

81.         
   ? 

 (A)        
 (B)   
 (C)    
 (D)    
 Which one of the following is not a salient 

feature of the Constitution of India ? 
 (A) Written Constitution and 

Supremacy of the Constitution 
 (B) Committed judiciary 
 (C) Distribution of powers  
 (D) Quasi federal structure 
 

82.      1991    
  ? 

 (A)       
 (B)     
 (C)  .   
 (D)  ..   
 Who was the Prime Minister during 

economic reforms 1991 in India ? 
 (A)  None of these 
 (B)  Atal Bihari Vajpayee   
 (C)  Dr. Manmohan Singh 
 (D)  P.V. Narsimha Rao 
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83.        
        
   ? 

 (A)  46 (B)  40 
 (C)  44 (D)  38 
 Which Article of the Indian Constitution 

directs the state governments to organize 
village panchayats ? 

 (A) Article 46 (B) Article 40 
 (C) Article 44 (D) Article 38 
 
84. -      

   ? 
 (A)      
 (B)     
 (C)   
 (D)      
 Who had proposed the idea of three tier 

Panchayati Raj System ? 
 (A) None of these 
 (B) Ashok Mehta Committee 
 (C) Royal Commission 
 (D) Balwant Rai Mehta Committee 
 
85.         

    ? 
 (A)     
 (B)   
 (C)      
 (D)   
 What ensures economic justice to Indian 

citizens ? 
 (A) None of these 
 (B) Fundamental Duties 
 (C) Directive Principles of State Policy 
 (D) Fundamental Rights 

86.   S.I.    ? 
 (A)  (B)  
 (C)  (D)  
 What is the S.I. Unit of resistance ? 
 (A) Ampere (B) Ohm 
 (C) Volt (D) Faraday 
 87.         

    ?  
 (A)    (B)   
 (C)   (D)   
 Sour taste of lemon is due to the 

presence of which of the following ?  
 (A) Formic acid  (B) Acetic acid 
 (C) Oxalic acid (D) Citric acid 
 88.       
 (A)  ()  (B)   
 (C)   (D)   
 Carcinogenic chemicals cause  
 (A) Asthma 
 (B) Diabetes 
 (C) Cancer 
 (D) Heart diseases 
 89.        ? 
 (A)   ( )  
 (B)  () 
 (C)  () 
 (D)  () 
 Name the upper layer of the skin :  
 (A) Special Dermis (B) Epidermis 
 (C) Dermis (D) Endodermis 
 
90.         ? 
 (A)       
 (B)      
 (C)        
 (D)      
 Current flows in a circuit when 
 (A) There is no voltage.  
 (B) A switch is closed. 
 (C) The switch is either opened or closed. 
 (D) A switch is opened.  
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91. 2
137    8

1   ? 
 (A)     
 (B) 400 
 (C) 500 
 (D) 300 
 How many 8

1 ’s are there in 2
137 ? 

 (A) cannot be determined 
 (B) 400 
 (C) 500 
 (D) 300 
 
92. ?4.102

1.36   
 (A) 62

29  (B) 72
19  

 (C) 32
19  (D) 32

29  
 
93.      4%    

      %2
1   

            
  ?  

 The population of a town increases 4% 
annually but is decreased by migration 
annually to the extent of %2

1 . What will 
be the increase percent in three   years ? 

 (A) 10.8 (B) 10 
 (C) 10.5 (D) 9.8  
 
94.  


 


  131169

271 x ,  x    : 

 If 


 


  131169
271 x , then the value 

of x is : 
 (A) 7 (B) 3 
 (C) 5 (D) 1 

95. 13    68      
 63       70 , 
     –  

 The average of 13 results is 68. The 
average of first seven is 63 and that of the 
last seven is 70, the seventh result is :  

 (A) 94 (B) 65.5 
 (C) 73.5 (D) 47 
 
96. ‘’     
 (A)  (B)  
 (C)  (D)  
 
97. ‘   ’       

      : 
 (A)  
 (B)  
 (C)  
 (D)  
 
98. ‘       ’   

   
 (A)    
 (B) -  
 (C)    
 (D)    
 
99.       
 (A)  
 (B)  
 (C)  
 (D)  
 
100.    ‘’      ? 
 (A)  (B)  
 (C)  (D)  
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